
,. 

SPX 

TCI� 

TC! International, Inc. 

3541 Gateway Blvd 

Fremont, CA 94538 USA 

TEL (510) 687-6100 

FAX (510) 687-6101 

Customer: 

Date Ordered 

15-Nov-17 

Customer Order Number 

TCI QUOTE NO. 5434-2 

PACKING LIST 

Ship To: 

Government Contract Numbe1 

File Number: 

Serial Number 

1-�--------�--------------�-----------------------� 
Date Shipped 

20-Feb-18

Item 

No. 

Quantity Quantity 

Ordered Shipped 

Shipped V]a 

YRC (PPD) 

Bal 

Due 

Notes·· 

Description 

0001 1 1 0 469-ANT-18T, CURTAIN KIT (2 CURTAINS)
: 

DIMENSIONS: 

WEIGHT: 

I 

BOX 1 BOX 2 BOX 3 

44X44X21 54X54X38 201X10X12 INCHES 

250 1080 320 POUNDS 
O.K. TO SHIP 

Q.C.

DATE

I 

' 

\ .. 

: 

: 
: 

: 

' 

' 

: 

; 

-

I 

' 

FRM CNTR 004 08-24-16 



Packing List 

3541 Gateway Blvd , Fremont CA 94538-6585 USA 

TEL: 510-687-6100, FAX:510-687-6101 

Project Name:  

Shipment Title: SHIPMENT 1 

Box ID Number: -0002 

Outer Marking: BOX 1 of 3

W.O. #: 26466A-002 

QTY: 38 

ITEM PART 

NO NUMBER 

3 094-INS-03A

6 023-SHL-0lA 

7 003-CLA-lSP

ASSY NO: 094-INS-02A 

DESC: INSULATOR, KIT W/1 SHIELD 

DESCRIPTION 

INSULATOR, 2l"ASSY W/BELLS NO SHIELDS 

SHIELD, CORONA ALUM 

CLAMP, HOSE 1.5 TO 2.375"DIA CRES 

- END OF BOX-

Page 1 of 3 

Project No: 

Report Date: 

 

Shipment Date: 2/6/2018 

DIM: 44"L x 44"W x 21"H 

CU: 23.5 ft3 

WT: 250 lb 

UOM 

EA 

EA 

EA 

QTY 

REQ. 

38 

38 

38 

0.7 m3 

113 kq 

QTY 

THIS BOX 

38 

38 

38 



Packing List 

3541 Gateway Blvd., Fremont CA 94538-6585 USA 

TEL: 510-687-6100, FAX:510-687-6101 

Project Name: 

Shipment Title: SHIPMENT 1 

Box ID Number:  Outer 

Marking: BOX 2 of 3 

W.0.#: ASSY NO: SALES ORDER 

QTY: DESC: TOP LEVEL DELIVERABLES 

ITEM 

NO 

2 

W.0.#:

QTY: 

ITEM 

NO 

PART 

NUMBER DESCRIP11ON 

SHPG INS HDLG SHIPPING, INSURANCE, HANDLING 

26466A-001 ASSY NO: 469-ANT -1 ST 

DESC: CURTAIN KIT (2 CURTAINS) 
·---------· --

PART 

NUMBER 

----�- --- - ----- --

DESCRIPTION 

- - - - ----

100 172-DRP-0lA DROP WIRE ASSEMBLY, 5/16" STRANDED ALUM 

101 044-INS-0lA INSULATOR, TONGUE/TONGUE ALUMINA 

121 466-RAD-16A RADIATOR ASSY, 3/8" STRANDED ALUM. 

246 466-RAD-01ATHRU-38A RADIATOR WIRE ASSEMBLY, LOWER CURTAIN, MODEL 

247 467-RAD-01ATHRU-38A RADIATOR WIRE ASSEMBLY, UPPER CURTAIN, MODEL 

53 175-WIR-16A WIRE, GROUND, l.5'/4.5' BIMETALIC 

59 148-WIR-06A WIRE, 6.00' ASSEMBLY W/LUG 

68 l 75-WIR-19A WIRE, GROUND, 2'/15' BIMETALLIC 

83 022-Gu·r-06A CUY, �n, 
JV r,;J /THIMBLE I l OM l',LUMOWELC 

84 022-GUY-05A GUY, 25' W/THIMBLE, 10M ALUMOWELD 

85 240-GUY-0lA GUY, ASSY 6M INSULATED 

91 365-CAT-0lA CATENARY, DROP WIRE ASSY, 10M 

92 366-CAT-0lA CATENARY, DROP WIRE ASSY, 10M 

93 367-CAT-0lA CATENARY, DROP WIRE ASSY, l0M 

94 368-CAT-0lA CATENARY, DROP WIRE ASSY, l0M 

95 275-FLA-0lA FEEDLINE, ASSY 6M 

96 276-FLA-0lA FEEDLINE, ASSY 6M 

97 468-RAD-0lA RADIATOR, ASSY BACK 10M 

98 469-RAD-0lA RADIATOR, ASSY BACK l0M 

99 015-RFL-0lA REFLECTOR ASSEMBLY, 6M ALUMOWELD 

-END OF BOX-

Page 2 of 3 

Project No: 

Report Date: 

 

Shipment Date: 2/6/2018 

DIM: 54"L x 54"W x 38"H 

CU: 64.1 ft3 

WT: 1080 lb 

QTY 
UOM REQ. 

EA 1 

QTY 
UOM REQ. 

EA 38 

EA 38 

EA 1 

516-3 EA 1 

516-3 EA 1 

EA 1 

EA 2 

EA 3 

EA 1 

EA 1 

EA 2 

EA 1 

EA 1 

EA 1 

EA 1 

EA 1 

EA 1 

EA 1 

EA 1 

EA 2 

1.8 m3 

490 kq 

QTY 

THIS BOX 

1 

QTY 

THIS BOX 

38 

38 

1 

1 

1 

1 

2 

3 

1 

1 

2 

1 

1 

1 

1 

1 

1 

1 

1 

2 

-



Packing List 

3541 Gateway Blvd., Fremont CA 94538-6585 USA 

TEL 510-687-6100, FAX:510-687-6101 

Project Name:  

Shipment Title: SHIPMENT 1 

Box ID Number: -0003 

Outer Marking: BOX 3 of 3 

ASSY NO: 469-ANT-1 BT W.O. #: -001 QTY: 

1 DESC: CURTAIN KIT (2 CURTAINS) 
--- - -----·-- -- -- - -

ITEM 

NO 

103 
   [fo·4

182 

183 

184 

190 

191 

194 

197 

202 

204 

206 

23 

-24

34 

35

PART 

NUMBER 

001-THM-02P 

00F5!P-� 
007-BLT-08P

007-BLT-06P

003-BLT-03P

003-BLT-05P

004-WSH-0lP 

045-WSH-0lA 

003-WSH-04P 

003-NUT-0lP 

016-NUT-07P 

016-NUT-09P 

006-GAG-0lA

094-INS-00A • 

003-CLA-03P 

023-SHL-0lA 

i..l "
.;.
5 ;;;..l _-_ .... 1J

a.:0;..:
l_-

.;.;
RO.£ - 11 p 1

52 054-CLA-02P

58 005-CLA-0lP 

61 001-SKL-0lP 

63 001-TNB-02P 

66 003-PLT-0lA

69 001-PRF-04P

70 001-PRF-07P

71 071-BRC-0lA

72 236-BKT-16A 

87 007-SPC-12A

88 005-INS-0lP 

89 005-CLV-03P

DESCRIPTION 

THIMBLE, HEAVY 3/8" GALV 

STEP, POLE 4 IN 

BOLT, HEX, 3/8-16 X 1.5" FULL THREAD ALUM 

BOLT, HEX, 3/8-16 X 1. 75" FULL THREAD ALUM 

BOLT, HEX, 1/2-13 X 1-3/4" ALUM 

BOLT, HEX, 1/2-13 X 2-1/4" ALUM 

WASHER, SPLITLOCK, 1/2" ALUM 

WASHER, BEVELED ALUM 

WASHER, FLAT, 1/2" GALV 

NUT, HEX 1/2-13 ALUM 

NUT, HEX, NYLOCK, 3/8-16 ALUM 

NUT, HEX, NYLOCK, 1/2-13 ALUM 

GAUGE, 30-75DEG RADIATOR 516-3 

INSULATOR ASSEMBLY 

CLAMP, HOSE 1.25 - 2.125"DIA CRES 

SHIELD, CORONA ALUM 

ROD, 8' X S/8" COPPEr--.WELD 

CLAMP, GROUND WIRE, 5/8" ROD BRONZE 

CLAMP, PARALLEL ALUM 

SHACKLE, 1/2" GALV 

TURNBUCKLE, 1/2 X 12" J-J GALV 

PLATE ALUM 515 516 

GUY GRIP, DEAD END, l0M (BLACK) 50 PER CTN 

GUY GRIP, DEAD END, 6M 50 PER CTN 

BRACE, FRONT POLE 

BRACKET, TML ALUM 

SPACER, .562"ID, l"OD, 0.62" LONG ALUM 

INSULATOR, l0K COMPRESS CERAMIC 

CLEVIS, INSULATOR STRAIN GALV 

-END OF BOX-

Page 3 of 3 

Project No:  

Report Date: 

Shipment Date: 2/6/2018 

DIM: 201"L x 10"W x 12"H 

CU: 14.0ft3 0.4m3 

WT: 320 lb 145 kq 

UOM 

EA 

EA 

EA 

EA 

EA 

EA 

EA 

EA 

EA 

EA 

EA 

EA 

EA 
EA 

EA 

EA 

EA 

QTY 

REQ. 

4 

10 

192 

40 

29 

20 

48 

68 

1 

48 

232 

1 

3 
2 

4 

4 

EA 4 

EA 8 

QTY 

THIS BOX 

4 

10 

192 

40 

29 

20 

48 

68 

1 

48 

232 

1 

3 
2 

4 

4 

8 

I. 

EA 3 3 

I 
EA 16 16 

�-----:-----:--'"'::> 
EA 1 

EA 5 

EA 7 

EA 2 
EA 2 

1 

5 

7 

2 -

2 .... 


